Information
Test 4 is approaching.

A video review is posted, along with
additional review problems.



Review:

What is the formula for the n™ degree Taylor polynomial
approximation of a function f'(x) %entemred at x=a?)

pm,«()‘)

e (n
?\)an ] (nB

} 1 0 - L

Poy s Snbeoar v T (maVe e B W0
?9 (7\(2(] 2\. \ﬂ ]

Notation: o PO

o

]




Example: Give the Taylor polynomials of degree 7 centered at

0 for each of sin(x), cos(x), exp(x) and 1/(1 — x).
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7th degree Taylor polynomial approximation for sin(x) centered at 0.
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7th degree Taylor polynomial approximation for cos(x) centered at 0.
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7th degree Taylor polynomial approximation for exp(x) centered at 0.



Example: Give the Taylor polynomial of degree 7 centered at
0 for f(x)=e™. =
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7th degree Taylor polynomial approximation for exp(2x) centered at 0.



Example: Give the Taylor polynomial of degree 4 centered at
1 for f(x)=In(x). o
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Example: Give the Taylor polynomial of degree 4 centered at 0

for f(x)=x sin(x) + 3x” — 2x + 1. Lloy = |
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11 Questions, 20 seconds each...

Popper 28

1' i(_l)nﬂ \/;

'  n+3

( 0 ) Converges Absolutely
onverges Conditionally
( 2 ) Diverges
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5 z cos(Tn)

2
n=1 n

Converges Absolutely

( 1) Converges Conditionally
( 2 ) Diverges
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0 (_ l)ﬁ 3??
3.
;( 4" + 3n

onverges Absolutely
(1) Converges Conditionally
(2 ) Diverges
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0 DConverges Absolutely
( 1) Converges Conditionally

( 2 ) Diverges
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n=0

@Converges Absolutely
( 1) Converges Conditionally
( 2 ) Diverges
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6. Give the 4" degree Taylor polynomial centered at

x =0 for e".

X X X
0 l-x+——-——+—
(0) 2 3 4
2 x3 x4
l+x+—+—+—
2 6 24
3
X
(2) x——
6
2 4

3) 1= 24X
(3) Y

(4 ) None of these.
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7.

Give the 4" degree Taylor polynomial centered at
x =0 for cos(x).
2 3 4
(0) oyt
2 3 4
2z 3 4
(1) I+x+—+ 2
2 6 24
3
(2) x-=
6
l_x_2+£
2 24

(4) None of these.
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g. Give the 4" degree Taylor polynomial centered at

x =0 for sin(x).

2 3 4

(0) q-x+ -2 41
2 3 4

2 24
(4) None of these.
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(1)
7 Z 3In+2

n=2

( 0) Converges Absolutely
(D) Converges Conditionally
( 2 ) Diverges
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0, 31107

7]
n=0 3

Converges Absolutely
( 1) Converges Conditionally
( 2 ) Diverges
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11. The function f* has values given by f'(0) = L.

£1(0)=-1 £"(0)=0, f"(0)=3and /¥ (0) = 2.

Give p,, (x).
(0) There is not enough information.
(1) 1-—x+3x"—2x"

(2) 1—.:~:+x3—%x4

@ 1—x+lx3—ix4
2 12

(4) None of these.
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